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33140000f pdoyljubiipwliwlnip]
33141140| tElwngbh dwwgun]kh Q20 huwn 48000 7 336,0
33141100 L. U Sdwgunftt  fqsu hwitn 1000 40 40,0
145*30uu
33141000 G20 huwn 430 70 30,1
E. U.Qdwuyyuyth 63*30ud
33141113| Uy hpuipdouljuh 96% SYASS {hnp 1300 70 91,0
33141100 gbmnlnqbuﬂlufu G2U huwn 450 300 135,0
ity bl
33141114 szuuﬂlmhpwh Ia\,uhqhq) G20, hwwn 650 1Lk it
S5uU
33141142 hhpmpqhzmuhqmlsm_ G20 hwwn 15 250 38
33141128] Punyhlhughl bkpuplhs Q20 hun 25 200 5,0
33141144|Uutn0,8:4, 0,7 Ul Q2U. hunn 8 3500 28,0
33141143 lujuphdhljunnp G20 huun 5 6000 30,0
33141159 Qlinling pdojuljul ny QU qnug 30 11000 330,0
unbiphy
33141160|untngty 250u] 420 huin 300 75 22,5
33141174 okpuwswth uinhljught Q20 huin 300 20 6,0
33141100 qUnLL]m[hmphuulphul SYALS hun 90 1 000 90,0




33141115| Punipuly ny unknhy 100g Q20 qpud 3
33141115| ghuiwy thwinjwug ntqhtl |*20 hun 15
Yuughstpny
33141129 Culunnhl @m]m]m Q20 huwn 6
~33141111] {bynuypwuwnhp unphg (420 hwn 150 125 18,8
2,5ud J
33141100|Owpuiljuy nEnhb G20 D 5 3500 17,5
33141100 bulhhr}npf’p lllan\ulhnp Q22U hun 10 250 2.5
33141100 a2, 380 39,9
Unwpluyulub wuwlh wnnif 105
33141133 |Upuunkphipinp Q20 hwp 15 700 10,5
33141210 hhpuluulhbnu G20, ﬂ'lmp 5000 2 10,0|
33141133|phtn 714wl [SFANS hwuwn 140 800 112,0
33141210 pdwbnpheni a2U hwuwn 100 600 60,0
33141210|pnpawnpUER Q20 50 25,0
unkphg Zudwp
nnupuijulin huwn 500
33141210 Ywuwnijwn Swypuiljuy (2 hwwn 10 2000
33141210|Unk yhuytwn G20 huwn 200 20
33141210| Qpniynutnph unphyy j42U hwin 120 2500
33141138 G20 10000
UUSrunte - LU3e 1hwp 12
33741270 dpmayug oqun. ghli. |2l 110
huytih huwn 500
33141210 gbmnppm‘uz QU huwn 50 200
plnudtup
33210000] Lwpnpuwnnpiyniph
n
33211210] C-nbwyunhy uwhunwynigh fE2U phiun 100 300 30,0
npn2twh pbura—htuLluJQuJOm
33211240 tllwinnpn dwljunnp Q20U phun 60 200 12,0
33211280 Pnnigkyng G20 pliun 250 50 1245
33211230|RPR uhdhihu q.2U. phuwn 40 800 32,0|
33211133|HBsAg Q2U. phuwn 180 300 54,0|
33211220{Glunh D untwybip Q20U pliun 12 200‘ 24
33211120|qyniynqu Q2U, uy Ve 1 600| 20,8]
33211160|yphwwnpuhl G2 il 17 384 6,5\l
33211270]CACL e 940 hwn : 10 500 5,0
33211300{Cughwunipyuighnud Q2U hwwn 100 100 10,0
33211220[AST ~|a2u. phun 40 96 38
33211220]ALT G2U pliun 40 96 3,8
33211170 hquiynip G20, plun 80 200 16,0|




33621420|wwnnpjuununhl Q20 nhnuihwn 50 18,0
(unnnpjuuinunhl 360
33621420|wnnpjuununhi Q20 ntnuthunn 25 5,0
(wnnpuunwnhl 200
33621380 thgopuhl 62,5Ula Q20 nGnwhwn 300 L 150,0
wuhnnupnt qQ2U nbnwhwwn 100 20,0
(ulhnupnth
33631380 hhnpnpinpht) 200
wnnhuht Q20U ntnwhwun 30 30,0
(wf{nnhwhtb
33621450| phqhpuwn)10uq 1000
Phunupning 5 Ug G20 ntnwhwwn 27 108,0
33621720 4000
33661136 Lnqupuwl 100 Uq e il T 1400 it
33621410 Uhd\lmumulmbh 10dqg |2 nhinuhun 70 540
33621410 Ublhhuumulmbh 40dq |32U ntquhun 120 540
33611120|$wininhnht 40Ug Q20 ntquhuin 5 360
33631170 |nkwnpughlih G20 wnulhub 650 64
Spwndwnng Q20 nEnunw 60
33691226 nhd& 600
33691226 Spun[un}nL q2U unfuniu 170 250
33621580 |hhnpnpnpnphwqhn 25 Ug |20 plinuhwwn 15 oot
OgUUIIU G (.20 phnuhun 30
33621761| 100Ug 2500
u U v G G20 hun 11000
33691270 (uuplbntpnip 10
= \lulpi’pulpbh G2U nliquhwn 36
33621110 (Jupduphl 300
ghwypndropumghlt Q20 unpduy 12,0
33671118 (ahunndiopuwghthhhnn Y 20
33621690 yupytnhni12,5dq - q2U pliquthun 65 2860 185,9
punuukup 2666,5
33600000 ACNNLUBL
33651111 widopuwghihuh G2U nGnwhuwwn {1600 100 160,0
prugnlweRnL
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33621450 unf|nyhughlt a0 ntnwhwn 10 25 000 250,0
(quLn111xu1bhbphqb1u1m)5d
wlopuhghthl G2U upywy 1500 20 30,0
(wopuhghththiphhpnp
33651112 wwn)
puhnutunmqnihl Q20 hwwn 600 30 18,0
(puhitwnwuqnihuphpnpn
33671116 piophay)
33621450 Untjhghtt 101 Q20U ntnwhww =730 6 000 180,0
33621720 a20 ntnwhwwn 15 360 5:4
phunwpn{ng
33631170 G2U wyntdhub 570 170 96,9
nhunpughlht




33621420 |wwnnpiuununhl Q20 ntquhuwn 50 18,0
| (muunpluununh 360
33621420 |winnpjuutnunhl Q20 phnuhun 25 5,0
(uinnpuunwnhl 200
33621380|thgopuhl 62,5Ulg G20 nnwhwwn 300 £ 150,0
wUhnpupnl Q20U nbnwhwwn 100 20,0
(ulhnupntp
33631380 hhnpnpinphny) 200
wdnnhuht Q20 nbnwhuwn 30 30,0
(wifinnhwhtip
33621450| phqhpuun)10Ug 1000
Phunupning 5 Uq qG2U nGnwhwwn 27 108,0
33621720
Sy4et nGnwhwn 100
33661136 Lnquipthwl 100 Ug
33621410 U]nhhnumulmbh 10Uq |32V ntnuhwn 70
33621410|Uhujuunuinhlt 40dq |+2U nhnuhunn 120
33611120|$wininhnhl 40Ug Q20 ninquhuwn 5
33631170 |nkwnpughlhl G20 wpnuhul 650
S«pmdmr}n]_ Q2U. nEnuuu 60
33691226 : wnhd&
33691226 Spurdwnny G2U unlyjnuu 170
33621580 hhnpnppnphwghn 25 Ug  |22U 2] phnuhwun 15
OGO GRTIEP T .20 plinuhuwn 30
33621761| 100uq \
U EnEpng qsU huin 11000 110,0
33691270 (uuluﬂ:mhpnﬂl 10‘ 1
Jupdwpht Q.20 niquhun 36 10,8
33621110 (Jupbuphle 300
ghwpn$oputght 20 updwy \ 12,0
33671118 (ghwnndiopuwghtthhhnn - 20
33621690 yupybnhm12,5Uq - Q20 gtnuhun 65 2860 185,9
‘thr}un[hhn 2666,5
33600000| TG LOLUBL e
33651111 wdopuwghhlh Q20 nGnwhwwn {1600 100 160,0
pluynuwppnL
125Uq+31.25 Uq /5UL
33621450{ w|nnhujhlt Q20 ntnwhwwn 10 25 000 250,0
(mﬂquu}hhhphqmulm)i1I
wlopuhghtht SVA upyuy 1500 20 30,0
(wnlopuhghihtihiphhpan
33651112 un)
puhinutinuqnihl Q20U hwwn 600 30
(puhpnutinwqnihuphhpn
33671116 pophn)
33621450 Ut 104g Q20 nGnuwhuwwn a 30 6 000 180,0
33621720 G2U ntnwhwun 15 360 54
phunypnin] ‘
33631170 G20 wyndhub 570 170 96,9
L nkinpughlhl




33211330] 2&hYynpulinbp whinph  [S2U huiin 1200 20 24,0
uphwtihp wpjul hudwp
33211330|2kihynpurljintp whinphuph |20 hun 1200 20 24,0
UEpuh hwduip
33211190|Ntbwgktin huu U Q20 phuwn 20 200 4,0
33211200|kwgkin hwlw £ Q20U plun 20 200 4,0
33211220| ntwgkin hwlw UL Q20 phuwn 30 100 3,0
33211220|ntwgkln hulw 2+ Q20 plun 20 200 4,0
33211190| Ntwgkun hwlu 8 Q20 ptuwn 60 100 6,0
33211380 Uqnip knghlt Q20 lhtp 6000 1 6,0
33211380 ywjghnud Q20 phuwn 40 100 4,0
33211380|Un dnuwijhghjuyhti ppor |20 g 6000 0,5 3,0
punundkup 290,9
33600000 Hquntwght hynpuygp 50-
30% ;
33621450 udnnhyhle Q20 nhnuhwin 15 7 500 S
(ulinnhujhtihplighpun)sug
33661156(@hunn; QU upqul 455 64 29 4):
(phunmhdwiuwn)0.5%5;
33611100 Q20 pinwhuin 15 1700 255
Ouliyypuqny 20uUg
33621720 Fhunupning Q20 nlinwhwwn 60 5 800 348,0
(phunupninih 10Udq
33621690 |qwupytghing 25 Uq Q20 phquhun 75 2 200 165,0
33621620 Uyhpnlnjuljnnt 25Uq Q20U nlinwhuwwn 55 1 360 74,8
33621140 ynwhnngpky Q20U ninuhuin =50 1780 1584
33621620 Q20 nGnwhwwn 720 46,8
Uwyhpnunjuljinnt 50Uq 65
33621520 Fawuyphy 10Ug Q22U nlquhuin 10 1200 12,0
33621520 tuwjuuphy 20Uq Q20U nquhuwn 45 400 18,0
336211520 Fuwjwuwphy 5ug Q20 plinuhwn 6 9 000 54,0
33642230|1inphpopuhlt Q20 ninwhwn 22 3 500 77,8
(lunphpopuht
33651224 |Utpnuptipuwn 2,5 Uq G20 ninuhuwin 46 200 9.2
33671113 |uwpnuinung G20 1100 63,8
(uwipnununingh upquiy 58
33621761 |Ughunhjuwihghjuppnt Q20 nlnuhwwn 20 140,0
100ug
7000
33611210 G20 nEnuhun 70 103,6
unt bwuwjughl 500 Ug 1480
33661136 Q20 phquhwin 13 10,5
qhwgbuwud 5 Ug 810
33621420 |wunnpjuutnunhly G20 nhquhuin 7 115:5
(winnpuunuinpl 1500




33671119 Uuunppbhmpan Q20U nbnwhwwn 500 50 25,0
33651253|Sulopupdht Q20 nGnwhwn 78 1160 90,5
33621720|phunypnin10Uq Q,U ntnwhwn 25 4300 107,5

QU upduy 10 40,0
gkdunughnhu
(gEdrnuqhnhuh
33621190 yknwhhnpuwn) 4000
ghuypndroputght Q20 upguwy 36 2156
(ghwpndjopumghthbhnn

33671118 npunphn) 600
33660000 Jwjypnuppnt Q20U ntnwhuwn 88 1050 92:4

33691270 Synunhljugnt Q20U hwuwn 11500 4 46,0
33661156| @hunn] QU upduy 450 170 76,5
33611100 Outiypuqny 20Uq Q20 nGnwhwn 14 7 000 98,0
33621720} Fhunypnin] 5uq Q20 nGnwhuwn 12 18 000 216,0
33621690|juipytinhing 25Uq Q20U nGnwhwn 37 4000 148,0
33631460] Yhpumlipuqnl G20 upyuwy 570 90 5153
33641411} Lunnnujw+ljwpphpnww Q2U nGnwhwwn 100 2 200 220,0

250Uq+25u

33621690| [juip tmhyny 6,25Ug Q20 nGnwhwn 25 360 9,0

33621620 Uuﬂlpn‘unpuumnh 25q QU ntnwhwwn i 8 900 329,3
33621620 il 50y Q22U nGnwhwwn - 4000 220,0
33621140}y inyhnngpbyp Q20 nGnwhuwwn 110 4 000 440,0
33621690 yuipytnhing 12,5Uq Q20 ntnwhwwn 31 4000 124,0
33642210{wntnuhgninl 5 g Q20 ntnwhuwn 10 3100 310
33621530 htiquuuthy 2,5 Ug q2U ntnwhwwn 17 720 122

33631360 Ephppnﬂhghh q2U hwwn 1200 10 12,0
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33621520f thupuuuphy Q.20 ntnwhuwwn 30 20 000 600,0
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33631300 ytinnyypndkl 150Ug a20. nGnwujwwn 170 300 51,0

h&
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33631300 jtinnypndtl 150Uq SYASS nGnwujwn 95 900 85,5
33661155|Whnyupypl QU upywly 500 36 18,0
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33631290{ Ppniypndk SUi Q20 upyuiy 1350 90 12455
33631290| bpnuypndhlt 400Ug SYACS nGnwhuwwn 20 4 000 80,0
33631290 | bpniypndkli 5 Uy Q20 updwy 2700 40 108,0
33631140| Mwpughiiuninpnlpubp a0, hwn ol 140 7,0
S50uq
33631140| Tupughnunnpdndpubn  fqru hwn 70 60 4,2
100Uq :
33611420 Qwghnuihgqyninwn QU nGnwhuww 7 350 2.5




33651133funybwuwjuqht 500 Ug Q20U nbnwhuwwn 67 480 32:2
33631290} hpniypndkh 200Uq SYASS nGnwhuwtn 8 600 4,8
33651224|Ukpnuipkipuun 2,5 g Q20U nGnwhuwwn 45 680 30,6
33651224|Ukpnuipipuun 5 g Q22U nGnwhuwwn 50 360 18,0
33611150{WwLypLwnpl ([pujuq QU nbnwwwn 75 400 30,0
100006HU, wdhjuq 8000 h§
GbU, ypnunnkwq 600
33621380{Yhgopuhl 62,5Ulq S540 nGnwhwwn 7 1960 1387
33623654 $nipnutilhy 40Uq Q2U nGnwhwun 5 4 900 24,5
33671113 juwpninudng Q20 upquly 1050 150 57,5
33611120 bwdnuinphnhl 20Ug Q20 ninuwhwn 15 400 6,0
33611360|fun by gh$tpng Q2U. ninwhuin 100 1000 100,0
33621420junnnpyuutnwnple LU nknuthuwn 25 1500 375
33621410|Uhtjuunnwunhlt 10dg  |%20 nnuhunn 70 2000 140,0
33621410| UhUjwuutnunhli 40Ug |*2U- phiquhwwn 120 2000 240,0
33691140 Ughuhjghunkht Q20 ninuhwn 100 60 6,0
33621420 wnnpuutnuiin bl Q2U pinuwhun 70 4000 280,0
33621761 Q20 pinuhun 23 20000 460,0
Ugbunhjuwhghjuppnt 75Ug
33621761| bgEnpuwhghiuppnt QLU nEquhunn 30 3000 90,0
100ugq
33651115{gibuilipuhle Q20U nlinwhun 45 1000 45,0
33621420jwinnpyuutnunhu20dq Q20 ninwhun 40 800 32,0
33621750 uh$tnhuyhl 10 Ug Q20 nhnuhun 15 600 9,0
33631310|nhjndtluyy G20 ninwhuwn 15 1000 15,0
33652142{ Ahljjudtipuigni 50Ulg, Q20U upyuiy 500 20 10,0
33621440| LEindjopuwghti 250U Q20 nlinuwhun 330 60 19,8
33661154{pinphtipuhnhl G20 hun 500 6 3,0
Juppuppl Q20 nhquhun 25 800 20,0
(Jupduphb
33621110 twwinnphnud) 2,5Ugq
Juppwpht G20 nlinuwhwn 36 500 18,0
(Juppwpht
33621110 twnphnwd) Sig
33621580 {hhnpnpinpnphwghn 25Ug |20 nnuhunn 15 500 o)
33661136{inqupuiwi 100uUg G2 U ninwhwwn 100 9000 900,0
B LU hunn 11500 20l 2300
(uupdtwntpnih
pupbwdnuwn),
dnunhljugni
($nunhljuqnith
33691270 upnuhnliun)
wqhppniuhght 20U upyuily 1000 30 30,0
(wqhppnuhghthnhhhnpu
33651125 w)
33611360|junkjughdtipn7s qu 22U upyuly 2000 130 260,0
33611360| junijuighdlipn 5 qu Q22U nhnuhun 100 20 2,0
33651197 jyputpuinh ghd F2U; 3700 14950
yunjuuinwuynip sepiily 30




punudkp 7903,8
9132200 FElqhly UU 1hwp 470 1870 878,9
22800000
Sywgpujul wohwwnwbplbp
22820000{ninkgph huykdus Uu hwwn 5 3000 15:0
22820000{0002 &lu Uu huwn 10 5000 50,0
unynpuljule Ul
22820000|nnunndu huwn 5 4000 20,0
22820000{0254l UU hwwn 5 2000 10,0
22820000{puntljh pulinipnth Uu hwwn 5 500 2,5
22820000 th]ﬂluﬂ{uﬂl Lwp. Uu hwwn 5 500 2,5
22820000futin. Lup. UL hwwn 5 300 1.5
22820000f{wpyul whwihq Uu huwn 5 1000 5,0
hnhtkph gbpduygt. Ul
22820000{2kw. Upd. 1,2,3, hwn 10 600 6,0
wEgh. - Ul
22820000 hhmulqnmnqa]nfu hwuwn 5 1000 5,0
22820000 wdpnijuinnp pupn Ul hwuwn 240 300 72,0
22820000|upndplll. Bulkinw Uu hwwn 50 300 15,0
228200000005 &l UU hwuwn 10 300 3,0
hnhubkph b stby. UU
22810000{Lwnpwn hwwn 150 300 45,0
22810000}nnwpkih ghpp Uu hwwn 2000 4 8,0
22820000{ninkqph hwbpjus 61 (UL hwwn 3 8000 24,0
22820000{Jh&. Gupnl U hwwn 3 1000 3,0
22810000{hngttn ninuunndu UL huwn 5 300 15
22810000{ghpp 1810 hwuwn 2000 4 8,0
22810000{qpubiguiunnjul UU hwwn 2500 7 5,0
22820000{%}. U. O. Uu huwn 5 1000 50
228300000 wohiunwjupdh pupuntp  JUT huwn 50 130 6,5
pludkup 393,5
30190000 pktwlwbyhnyplkp
30197622 @FninpU-4 Uu wnntth 2000 50 100,0
SkwnpU-4 nown UU
30192743 juquny hwwn 2200 20 44,0
30192743 |\ inkwnp 96p Ul huwn 220 10 2
qpuiutlwjuyht ghpp (UU
30192700{200p. hwwn 1400 20 28,0
qpuiuklwguyht ghpp (UG
30192700{400p. hwwn 3600 10 36,0
30199420{upnidlbp pninp Uu huwn 200 23 4,6
30192128{qnhs gkny Uu hwwn 200 50 10,0
30192121{qphs unynpuljul UU hwwn 80 120 9,6
30192154|upph ndhly Uu hwwn 470 10 A7




30197230 pnpwywiuy 10186 hwun 70 25 1,8
30197232 Unpuquljup Ot hwun 70 5 0,4
30192133|nkwnhl Uu hwuwn 200 10 2,0
30192125|dwnhuniuli Uu hwwn 50 10 0.5
30199400 [ahs UU hwin 950 5 4.8
30197320 llmprhUUUhrl [UHBL wnntth 70 10 (0}
30192131{duyy Uu wnntth 1000 10 10,0
30192710|Cinphu UG huitn 200 10 2,0
30197112 mdpuﬂl Ul hwwn 110 5 0,6
30192700funuptid Uu hwwn 250 10 2:5
30192710|Eunijuhw Uu hwwn 140 5 07
wpuiwtnwdwdwbwhhjuu
30196100fuipquply : hwwn 20 10 0,2
30194700fwbdiuljuit plpphly UU huwn 20 10 0.2
npudwplnh Gph Ul
30194700]onnkp huwn 5 15 0,1
30192300|pwliwp UU hwwn 900 2 1,8
pHpwuyubul UU
30192710 wpwquljup wjuunhly hwn 1600 5 8,0
30192700f{hwaohy Uu hwwn 2000 e 2,0
30197230{yndquud Ul hwwn 120 2 67
30192131 jpwilint Uu hwuwn 130 1 0,1
30192770jdjpwuwn Uu hwwn 670 2 1,3
30192730|juysnil fuqu Uu hwwn 100 9 0,9
nphnudtp 279,8
Zhdtwul Uhong
39111167 Upnn Ul huwn 73500 4 353
39111168|uljuiiht wywpun UU hwwn 120000 1 120
39515400 thuanulpqunL]p Uu hwwn 6000 6 36,0
wofuwnutipuyhe UU
39111160futinul huwwn 105000 105,0
39111165 huu[mliulquz UuU hwuwn 265000 265,0
39711210 Lqulgulpulh Ul hwwn 25000 2550
punudkup 903,8
Stnbuwljuly
wuypulipbkp
39711210{6npuly UuU hwwn 6000 5 30,0
397112101 Juipquljukp Ul hwuwn 500 30 15,0
39711210} k. wlouinhstip Ul hwwn 700 5.6
39514500{6npulih dywinnnduy [Uu hwwn 1500 i
39531800{Untuph qnpghy UU hwwn 3800 152
39831270 &hnhng‘uhp Uu qniq 308 26 8,0
39831246| L. judybp UU hwiwn 100 50 5,0
39514500}upphsubp Uu huwn 400 20 8,0
39831246|intuunnniikp Uu hwwn 2900 14 40,6
39791210 pnhuﬂlhhp Ul huwuwn 3000 30 90,0
33760000|2n1quipulih poinp Uu huwn 120 250 30,0
phnudkun { 254,9
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